Subject: Re: assignment inside boolean expression
Posted by Jeffrey Jones on Tue, 11 Jul 2000 07:00:00 GMT

View Forum Message <> Reply to Message

In article <396A3790.43C8EB31@astro.psu.edu>, Patrick Broos
<patb@astro.psu.edu> wrote:

| was wondering if it's common knowlege that one can put an IDL
assignment inside
a boolean expression (like in the C language). For example

if (v=0)then ... assigns v and does not execute the "then"
statement, while
if (v=1) then ... assigns v and does execute the then.

Just as in C | find this leads to really nasty bugs.
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The analogy with C only goes so far, it seems.
The following generates a syntax error:

x=0
while ((x = x+1) It 10) do print, x

whereas,

x=10.0
while (x = x - 1.0) do print, x

produces:

9.00000
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